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SECTION - A
JiGenerakAvareness
1. "The Serdants of India Sociely” wids 6. The intarsecting lines drawn on maps
faunded by and giobes are
{A} Annin Besant (A} lafitudes
B Gopalakrishna Gokhale (B longitudes
| i) EER ;
' (&} Bala Gangadhara Tilak () geographic grids
i ! 1. T ]
(P} Dacathal Nacroj (D) none of the above
2. ‘Dandim” is 7 popular dance of . o
: : 7. The hot and cold desarls logether
(A} Funjah oceupy nearly land area of
(B) Gujarat the world,
(21 Fami Madu Ay /2
(27 Maharashlra B 1/4tn
i
3. The words “Satyamava Jayale" "
inseribed below the base plate of the (D) 3l
emblem of Indla &are taken from
(A Rigvada 8. Whowrots the lamous ook -
kot "Wa the Peopla'?
g WGy Murdak Upamishas (By J. LD Tata
: (B}  Hamayana

{C} Khushwant Singh

4. In tha form of which Constitution (D} Mani Palkhivala
Amandmant Bill Artl-Dataction Bill
was by lhe Indian Parllameni on 8. The original name of Mahabharatha

30N Januan 1985 7 WAES
(A 42 (A1 Brihil Katha
(B 52 (B} Sanhssira Sambita
i (C] 61 (C)  Jaya Samhita
' (D} 44 (D) Rajatha Rangini
5. The Prakril text “Gatasaptasati’ is 10, Jaintsm differed from Buddhism in
attributed to the Satavahana King which of the toliowing aspeacts 2
(A Vasishliputra Pulumawd (AY  Faithin Karma
[B) Hala (8 Doctine ol Ahimsaa
Sl Gauamiputis Setany [C) BelieT In Fasting
(DY Armru

DY Aejection of Yagna
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Entormology |s the science that studies
(A} Behavior of human beings
(B) Insects

(G} The ongin and hislory of technical
and scizntific tarms

(DY Tha formation of rocks

Flim and TV Institute of India is
locatod at

(A)  Pune (Maharashtra)

(B) Rajkot (Gujarat)

(C)  Pimpri (Maharashira)
(D} Perambur {Tamil Madu)

The language spoken in
Lakshadweep Island is

(A} Malayalam

(B) Marathi
(C) Tamil
(DY Gujarati

In tha estimation of expenditure
charged on the Consolidated Fund of
India, the Parliament has

(A} Mo powar to discuss
(B) Full power 10 discuss

{C) Full power 1o discuss during
smergency
(D) Mone of the above

The mambers of the Rajya Sabha are
alecled by

{A) Tho people
(B} Lok Sabha
(C)

Elected members of the
Legislative Assembly

Elected members of (he
legislative Couneil

(D)

16,
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Under Akbar, the Mir Bakshi was
required to look aftar

(A} military affairs

(B) the state reasury

(C}  the royval household

(D) theland revenue system

Which of the [ellowing states lig partly
on the north of the Himalayas 7

(A} Himachal Pradesh
(B}  Arunachal Pradesh
{C)  Jammu and Kashmir
(0 Sikkim

B. C. Roy Award is given In the field of
{A)
(B
(C)
el

Music
Jaurnalisim
Medicine

Environment

Gandhi Peace Prize for the year 2000
was awdrded tothe former President of
South Africa along with

(&) Sathish Dawan
(B) C. Subramanian
()
()

Grameen Bank of Bangiadesh
Warld Health Organisalian

The primitive tribes of Andaman arg
descendents of

(A}
(B}
(C}
(D)

Megraids
Australoids
Mongololds
Caucasoids
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liiGaneratintalligenceland Beascning Ability

Directions (Q. 21-23) : Thero is some
retahonship betwean the two words on one
side. The same relaticnship ebtains between
the other twe words. one-of which is missing
and glvan as an allarnative balow the
guastion. Find the corract alternatve.

21. Bud: Fowes
(A) Seed
(C] Tasta

2: Fruit
(B)  Flowear
(D) Twig

Leadar ! Foliowear : 1 Captain ! 7
(A)  Soldars By Game
(&) Ships (B} Army

Angry : 7.2 Night: Day
(A Kind

(B} Hsipful

{C} Pleased

(0} Loving

Direction ; Select the aption which shows
simltar relationship

Ay UV 54 (B) LU &4
Gy WV 51 (D) VvV 54

If "+" means maultiplied by’, "~" maans
‘divided: by', '=' means-‘plus’, '+’
means minus, then

(1B + 10 20) -8 =g="1

(A} 35 (8] g2
(C) 28 (D) 18

Rirections : In questions 26 to 28, two
stalements are glven followed by two
conclusions numbered (x) and (). You have
to take the given stataments 1o be true aven If
they seem to be false or contradictory fo the
commanly knawn tacts: Decide logically which
of the answer choices 15 correcl.

(AY Only (=} tollows

{B)  Only {y) follows

(C) Bath (x)&nd (v) follow

(D) Either (x} or (v) lelows

Statements |  All cakes are ice creams.

Allice creams are toffees.
Conelusions | (x} Allcakesam toffess,

(v} Al toffees are ice
Creams.

Statements: Al players are fall,
Mechan is 1all,

Conclusions | (x) Mohan |5 a plaver,
i) Mohan is not a playar.,

Statements © India got ber indepandence
at midnight.

Gatting indepandence Is a very great

evant far a nation and calt for celebration,

Caonclusions | (x} Mast of the people
‘ware sleaping as it
was the midnight
hour,

iy Thi celebrations
started right at
midnight.

John ranks twenty-first In & class of
fifiy-ocne. What is his rank fram the last 7

(A) 3 (B) 30
Gy 17 (D) 21
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(A) == (B} TE=

{C} =" (D) =&
28 T AR e

(&) A (B &=

(C) e (D) ¥l
23, T T oam s Ted

(A) =T (B) HEEF

(C) = (D) =

famm fador - ox B & Soa =l = BHW GeEy

=l Ee Al
24 PP 61: AA &

{A) UM EA4 (B
(G) VYV 51 (L)

UL 54
V54

o5, R e e aged qun B, S s e
B, e E e R, A R R,
A(IB+10x 200 -8 +6="7
(A) 35 (B) 92
(C} 28 (D) 18
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3. B ls In ‘doubt' in the same way as ' is
In - B
(&)  enhance (B) inhibit
(C) house (D} honest

1. In a certain code, PRAMOD s written
a5 ATCOQF. How is BUSTLE weitten
in that code 7

(A) URGENT
(B] DWUVNG
(G) RTLEIN
(D) DUWNVG

42, Step |s related to stalrease, In the
same way as soldar is refaled to

(A} Army (B) Rifle
) War (D] Bravery

Direction : Choose the pair which shows
similar refalionship that the given pair shows;

33, AB123:CD 458
(A} PQ234:5T 567
(B} JIK 345 ; LM 678
(C} EF 345 GH 687
(D} PQ456:SA78Y

34, How many 6's are there in the following
numbar serles which are precedad by 5
but not followed by 7 7

o0 7B5B4027874356B649567
(A Twe (BY Three
Gy Four (O} One

35. R Isthe sister of Q. 3 |s the sister of R

F is the brother of O, How is O refated
to& 7

[A) brother (B) sister
(C) ‘brother or gister (D) =son

S

37,

38

40.

000008

Faour years ago Ashoka was six YEars
elder than Ravi. Whalt is the difference
of thair ages now 7

(A)  Fouryears

(B} Bix years

(C) Eight years

(2} Two years

Which of the fallewing will come next in
the series below ?

shg. rif, qle, pkd, ?

(Al ome {B) alb

(C) ole (D) oke

Six stutenis are sitting in a row. K is
sitfing betwean'V and A Vs sitting next
@ M. M s sitting rext to B who s sitting
on the exlreme laft and G is sitting next
to R. Who are sitting adjacent to V' 7

(&) Mand K (B) CandK
(C] BandmM (D) VandR

Three of the following are alike In a
carfam way and 5o form a group. Which
Is the one that doas not belong to that
group 7

(A} Biology (B) Geometry
(C) Trgonometry (D} Aigebra

Srikanth is shorter than Nillma. Prathima
s taller than Srikanth. Subhash |s taller
Ihan Milima bul shorler than Heramb.
Milima fs talier than Prathima. Who will
be in the middle it they stand in a row
according 1o height ?

(A)  Srikanth {B) Prathima
{C) Nilirma {D} Subhash
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. () house (D} honest
31, e favm = 4, PRAMOD =1
RTCOQF T s & 1 36§ =I5 4
BUSTLE =1 % T sman 2 7
(A} URGENT (B) DWUVNG
(€] ATLEIN (D) DUWNVG
32, SR g A A geis R, i nen
s | HeiE §
(A B (B} THA
(C) g& (D) =
' form ol . g AR = =g = A R sie S
e e e il

43, AB123:CD 456
Ay PQ234:5T 667
(B) JK 3451 LM G7E
(C) EF 345 : GH 887
(D) PQ 486 :5R 789

34, T s e B fea 6 2S5 3
et & o 7 T Al € 7
5BFE56482767435686486687
(A} =l (B)
(C) = (D) W=

35 R OF RIS RFATHEIP QF
Rt o sER ymhad
(&) ¥E (B} #iA
(C) s ar (D) w21
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41, Theaverage age of 20 childeen is35 ka AL Poand O stanted a businass h'l_.r investing
While calculating e avemn.:,:a. B noys Y 5 lakhs and 2 7 lakhs respectively,
age was laken as 25 kg instead ol L _ _ )
45 kg What fs the comrect averago | Aligr i months H jaingd their business
age 7 wiih ap nvastment of 7 8 lakhs. At the
(A 45 kg end of thi year they made a profit of
(Bl 42 kg T Blawhs. What s the sharaof B in the
(C) 36 kg 1ol pant Y
(D) 40 ky (&Y T B6,008
42 The arsa of a right anglad triapgio s (B} T 56.000
10 cm®. i one of the sides which [arm (3] T 70.000
the right angle is & oy, find the ofhar
By, T 30,000
(&) dcom '
(B} & cm AR A parson gets simple interestol T 500
{€1 5om for one month for his deposit of
{0) 3oem 7 60,000, Find the rate of interast.
43 Thaemiioof the pefimeaters of wa circlaes [A) 168%
ig 3.4 Whal s the ralio of their areas 7 B 10%
(Ay BB
I ) .
(B} 45
(G) 3:2 o B
iy 9018 A7 1w kers complete i work in 15 days
44, Aher John gave ¥ 12 fo Harl and Hari by working & hours/day, How many

pava % 4 to John, both had equdl
amounts with them. Who had smatlar
amount inftially and by how much 7

(A} Hariby? B
B dohnby T4
() Harl by T16

(D) John by T8

chays 16 workers 1ake 1o complete the

sarme wark by waorking 5 hours/day ?
(A) 18
(B) 20
€ 0
By 18
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oA %) 3E 20 36 fem & | g &
T 00 99, T SE% %1 35
45 form = st 25 e T v o | st
Hiw A S

(&) a5 fEm

(B 42T

(¢} asfEm

(D) A0

O R R S 10 WifE R
TR B F90 T g9 5 268, T
] AT T A |

(A} 4FHE]

(B 2%

() s

(2 3

& a1 U g 30 4 7 | 3
A =] ST A

(A) BH

(B) 4:5

) J3:.2

(D) 8:18

A1 2 w127 2 i plogn =i
A 93 T oA, ZE 3 urE A afE )
ol | e ara =w oy o s ferlt =
wup T

Ay ol W B T A 2

(B) FAFTEA4LFRA

(C) ERFUHIET=AU

(D) ARRITHATFIY

48,

47,

P 9T 09 5 #0593 7 T e T
Fa]; S s U sgaerd g R |
BUEM F A A o TE FEm T T
Gy e M e B B e o =2
3 e T A Al | T w R
(ETE RE=x1

(A} B0,000%

(B 50,0003
(& 0002
(0 30,000

e =y =) U= HHlH 5 [0 60,000 ¥SH
W RO ¥ TN BTE TR R e

4t Al i |
(AY 15%
(BY 10%
(G 12%
o 11%
10 S1THeR W Tee B 52 S e Uk B ]
18 fepeit T g w8 |15 AT aH S R
wiferfeet & e e =50 Fpert T 1 g i
(A} 15
(B} 20
(C) 10

o 16
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48. The three angles of a triangle are in
Arithmetic progression, The smallest
angle Is 50°. Find the other angles.

(A) 60° 70
(B} 70°,90°
(C) - BO*, BO"

\D}  40° 907

44, A 250 melres long traln speads past a
pole In 12 seconds. What ks its speedin

kilometras per hour 7
(&) 7.5

(B} 50

(C) 75

(B} 25

2
50. Girish has 3 as riuch money as Gur

3
has and Guru has £ as much money

as Aaju has, If Raju has ¥ 300, how
rany rupees Girish has 7

(&) 320

(B} 480

(Cy 720

(0} 420
D 14

32,

RTERERTR R RET I

(G

Bt o0

(o)

By seling a pen for ¥ 10, Raju gets a
profit of ¥ 2, By selling fhe same pen for
¥ 20, how much profit does he get 7

(A) T4
(8] T1i2
() T8

oy T10

Face value of a-share is¥ 100. It is sold
atl a premiurm of T 20, Brokerage is 1%.
How many of these shares can be

purchased by investing T 24.200 7
(Al 180
(B) 200
(c) 220

(D) 400
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49.

50

T HTE gz v 500 ¥ | S = i )
(&) 80°,70°

(B) 70v, 90"

(C) &0¢, 80°

(B} 407 20"

T 250 el 3 1 2 T H T e )
T FE R | e 0% a2 F gl
S

(A) 7.5

(B) 50

(G} 75

(D) 25

Frffe S 2 e O s

wmﬁ%wmﬁﬂ%mﬁﬁ%m

BOOE &, at Ffm & o e eam 8 7
(A} 320
(B) 480
(€} 720
(O 420

15
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(Ch

ple @l

()

10T T ) S T 2 E
B 8 | 3 AR i w20 T A R,
sl 3% Teeerr = #

(A) 4%

(B) 12%

(C) 8%

(B 10%

0 T SR ARG oW 100 T8 1% 207
o STy o W A R A 1% R
24,2007 Fa9 0 9 BEaa S wiE
e 7 T
(A) 180
(B) 200
[y 220

{D) 400
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A purchases a pre-owned gar far
T 200,000 which inpludes 2 19,000
given to the broker. He spands
¥ 30,000 for its repair, He sells it through
a brokar lor € 2,44 800 and gives
2 10,000 to the broker. Find the
parcentage of profit or loss In this
trangacton.

(M) Profil of 6%

(B} Lossof6%

(Cy Profitof B%

D) Loss of 5%

Find the sum of all the first 16 odd
nalural numbers.

(A} 200

(B) 21b

(G} 225

(D) 235

There ars & teachars noluding the Head
Masier. How many committeas of

4 teachers can be made with e Head
Master as the Chairman 7

(A) 3O
(B) B
[y 76
(D) BE

AR R

56 7 108,
=
13 39 B
192

103

17

5

([A)

(B)

) 2rap
[y S04

75% of 220 = 15 % 7
(A) 28
B) 11
Gy 110
(D} 165

i

SR -

v 81
[A) 405
(B) 4080

(CYy 3645

(D) 40.50

Pi=8:2/Q:A=2:5P:Q:R=7
(A} 3:2:5
(BY 2:3:5
(C} 8:8:10

(D) 9:6:10
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A 200,000 ¥ 5 9d wifes =iel w=m
T 3 e s s R 10000 %
MEA & | 58-30,000 ¥ THH W 0
HH w1 T 90 58 T & e g
244,800 F 1 THA A1 10,000 T 7757
T =1 B | 38w # 3w wng il
TR 310 |

(A) B35 T FIHE

(B 8%

() B&%EITd

(L) swsaEle

e | 16 = e wEnat = s ae
. |

A} 200

(B} 215

(C) 225

(0) 235

TE AHEIEE 6O 9 ST i )

S B T TR A 4 S
ot Tt miafal 24 =) qEdr v

(&) &0
(B) B8
(&) 76

(D) &8

R

a7

S8,

a0,

() - 2742

(D} 308

Aol 220 =15% %

(A) 28
(B} 11
(G} 110
(D) 165
R
(A) 405
{8) 4080
(C] 3645

(2 40.50
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HiR=312/0: R=3:5 P O:R=7

(Al 3

B3

(B 2
C) 9:3:
i} 9

2

B

10

=G
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The word or phrase which is apposis
in meaaning o the word "charitabio” is

(A}
(B
(<)
()

ABNerous
salfish
marciiul by others

benavolont

Find out which past of the below
given sentence has an eror, 1}
therais no error, mark vour answer
As {0},

B2 | was aboul to star my car (A)when |

aa,

24

found(BY'that thers is no petrol in ot (G
Mo ermor( D)

Gne word whigh can substifuto “Cne
who beligvas in God &

1Al
[B)
{C)

(2]

scuangt
danosiic
theist

Alheist

Out of these four words, the correctly
spell word is

A
(B)
(G
(0

fareignar
fareiner
farlenor

feriagneg

Bg

86

T

BE

Few could tnderstand Vimala's manial
whan her husband died,

iA)
(B
(G
(B2

foalth
faelngs
thaught

batance

Flural form of radius s

{A)  roudies
(BY radios
(C)  radi

(0}  redivses

Past tonge of theverb 'strike’ ig

(&) strikedd

{B) struck
(] shoke
(L1 stru

The thieves were Gaught by the police
as they were frylng 1o get away with the
inotad monay

The allemative whith best expresses
the meaning of the idhom vnderlined In

the above senlence is

(A 1o dispase of
(B] tobury

(CY o play fodl
(B escapE
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Directions : Fill in the blank with the
appropriate altemative givan below each
guestion

89, As the driver swerved violently at the
turmning. the wheel came ol! as it was
airaady

AT luse
(B) loso
{C] loosse

(D) loos

g0, | congratulated Him his
BLICTESS.

(A) for
(B} on
iC} o
(B by

81 The meaning of domicile |s
A dwelling place
tB) bicycls
(€}  demination
(3} delets

82. The viclence has succeeded In
our attention o the
damands of employees.

(A) taking
(B) Irwiting
(C) dividing
(D) drawing

MR Gl

Direction for questions from 3 to 96 ;
Read the following passage carelully and
choose the bast answer to 2ach guestion

from the four allernatives given,

The cockroach has learnl more about
survival than any other creature, He can live
amywhere from the middle of the Sahara
desan to the kitlohens In freezing Labrador,
The cockroaches ability o survive comes
fram his ability to eat anything, His tastas in
food includa everything from flower buds fo
shoas, He eats his own cast-aff skin, and if
there Is nothing else, dines on egos of his
ownspecies. He can liva for & month without
any food orwater. Cockroaches have wings
and shx powerful shoit legs. With the help of
Its two antennas cockroach feels his way in
the dark.

93. It a cockreach cannot get anything to

gat, ne avan gats

(A) Fowser buds
(B) theeggs of the cockroach

(Cy shoes

(D)  cast-off skin



O OO

4. Cockroach feals its way In the dark with

95.

\he help ot .
(A) its wings
(B) Its powerful legs
(C)

ils eyaes

(D) its antannae

How many powerdul short legs has a

cotkroach 7

(A} Six
By four
(€} two
(B)  eight

How long can a cockroach live without

any food ar waler 7
{A} one year

(B)  ane week

(C) ' ene manth

(B} ona farnight

a7

g98.

100,

JDD-33/SNMX-13
Ahghtbreeze  tha forest
fire &nd mades it moro dangerous,
(A Blew
{8} lgnited
() hit
{0} fanned
Ispeak English, but __Franch,
(A | speak not
(B) | don't speak
(G 'm not speaking
(2) | dogsn't speak
How long learning
English 7 "Six months,"
(&) have you been
(B} you are
(C] areyou
(B} doyou
Con'l take that newspaper away,
— e JAE
(A} | read
(B I'l read
(C) 1 am going to read
{2} 1l nat read
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101.

102.

103,

104

SECTION - B

| ICHEA R R EA

| Eosi Specific Subject:Related Questions

Antidote for heparin is

(A) Vitamin K

(B) Protamine sulphate

(G} Aminocarpoic acid

{0 Amniodarene

A pationt in the second stage of labour

which of the following
improve utering

2 givon
injEctions o
contractions 7

(Al Dxylocin

B} Methargin

({Cy Fhenemgan

(DY Dipzapam

Acute pancreatitls |5 manifested by
an clevatad

(A)  Serum Bilirubin

(B} Semm Amylase

(Y Serum Alkaling Phosphatase

(DY Sarum Creatinine

Which of the following antituberculosis
drugs can damage the 81 cranial narvi 7
(A) Isochigzid (INH)

(B} Paracaminosalicylic acid (PAS)

(G Ethambutal hydrochioride
{myambutol)

(D) Streptomycin

105

106,

107,

108.

Which of the tollowing is used in the
managemeant af hyperkalemia ?

(A Insulin with glucose

(B} Sodium bicarbonate

(G Patassium chiorida

(D)  Magnesium sulphalte
Distended abdomen and absence of

bowal sourds after abdominal surgery
indicates

(AY  Intussusception
(B8) Faralyticlleus
(C) Hemorrhage
(D)  Ruptured colon

Tha normal Intrascular pressure s
(&) 821 mmHg

{B) 16-25 mmHg

(C) 20-35mmHg

() 19-38 mmHg

Which of the following ECG lindings
indicate the presence of hypokalemia ?

(a) Tall peak T wave

(B) ST segment deprassion
(G} Widening of QRS cemplex
(D} Prolonged FH interval
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103,

104.
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108, Which &f tha following need to ha
performmed before radial o
cannulation 1o evaluate radial and
ulnar arteral patancy 7
(A) Allen's test

{B) Anglography
vl Buergors test

(D) Capiliary rofill st

ML Cammion risk of severn deprassion ig

{A)  Fatigability
(B] Hallucinations

(G} Thought block

(0 Suigide

11, Dumping syndrome i a complicalion of

(A
(B)
(C)
(D)

Colectomy
Subtotal gastrectom W
Mephrectomy

Histrectomy

112, Which of the following is used as an

anlicete for organophosphoraus
poisoning 7

|:'||!'|.l:|
(B)
(c)

Alropine
Adranaling

Avil

SO0 000

Lactulose is praseribad for patients with
hepail; o ncephalopathy 1o

(Al

Ty

decrease lhe bilirubin level

(B} decrease tho serum ammonia
level

{C)
(D)

ncrease the protein level

ncrease the glucose |level

114

Apical pulse is assassad by placing the

diaphragm of (ho stethoscope -at the
areg ol

(A} Aortic area

(B) Pulmonic ares
(C)

Mitral aroa

(L3} Tricuspid area

Abnarmal profiferation of ulenine
endometrial lissus outside the Uterus
is known as

(A
(B)
(C)
(0

Cystle fibrosis

Endometriosis

Metrorrhagia

Menorrhagia

116. The size of the niravenous cannuia

used for neonates is
[A]
(B)
[C)

18
20
22

(B Amniodorone

(B
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7. Normal serum potassium lovel in
med’ L fs
(A} 2535
(B) 35ws
(G} 55065
(B 651075

118.  Bleading from tha nose s known a5

(A)  Epistaxis
(B] Hemoptysis
(E) Hematemesis

(B3] Hematuria

118, Which of the following s used to assass

the level of consciousnass 7
(A} Apgar score

(B Braden scake

{C} Glasgow coma scaln

(B Snellen’s chart

128, Physician prescribed o administer
Tablet, Digoxin  0.125 mg oD arally
Tablet Digoxin is available in 0,25 mg

The nurse should administer
(A}l 1/4 lablat
(B) 1/2 tablet
{C} 2tablats
(0} 4 tablets

121.

122,

123.

A0

Praseription is Inj. Dopamine 200 gy in
250 o6 DLW to infuse at 5 MmEgkgdmin,
The patient's weight is 50 kg. How many
co/hour would this be on an infusion
pump 7

(A) 18

(B} 22

(G} 28

(O 30

Which of the follawing s most important
o prevent the progress of diseass in

thramboangiitis  abliterans (Buesrger's
diseasa) 7

&) Controlling blood pressure

(B) Controlling diabates

(C) Woeight reduction

(B) Smoking cessation

While glving NG (ubg teeding, which of

the following nursing acticns prevernts
complications 7

iA)  Advange wibe 2 om
(B} Fush with 20 mL of air

(€} Provide high Fowlers posilion

(D) Plug the air vani during feeding
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124, A patient wha is on Sengstaken- 128, Gonlometer is used to assess
Blakemore tube | suddenly experences
difficulty In breathing. Which of fhe (A} Auditory acuity
fallowing actions should the nurse (B) Musele strangth
take first 7

Range of motion of joints
(A)  Administer oxygen with a nasal (Cl g e joi

cannula (D) Visual acuity

{B) Elevate the head of the bed
128. The surgical procedure done to relleve

| Cutand remove the tube
(C) nd ramove the tu prassiire in compartment syndroma is

(D) Listen to the cliant's lungs
(A} Open Reduction with Internal

125. Which among the following Is an Fixatian (ORIF)
indication of portal hyperlension 7
(A) Astarixis () 'Menissentimy
.Fr ! (B) Hematermnesis {C) Fasciotomy
| (C) Elevated blood pressurs (D) Arthroplasty

nfusi
[y (D) Confusion 130. Fractures of the distal radius is called

126. A patient's GABS I8 40 mg%. The

{A) Hume fracture
immediate management is to administer

[A) 5% dextrose (B) Mentegpia fracture
(8) 50% dextrose (C) Galeazsi fracture
(G 10 units. Human Actrapid Insulin (D) Colles’ fracture

{01 Normal sallne . .
131,  The causative organism for peptic ulcer is
187 ! 3 ti
Buck's extenslon traction Is (A) Helicobacter pylor
(&) Applied as cervical head halter
(B) Staphylococci
(B} Skin traction to the lower leg

(C) Eschericla coll

G} Skeletal traction ta the lowar leg

(D) Tongs applied to the head (D) Streptococci
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T,

s

134,

Color coding for Nitrous exide cylinderis
(A} Black

(8}  Black with white shoulders

{C}  Light blue

(D Gray

False sensory perceptions with no basis
in reality is known as

{A) Hallucinations

(B} Delusionz

(G} Loose associations

{D] MNeologlsms

Which of the following procedure
always requires surgical asepsis 7

(A)  Maginal irrigation

{8} Urinary calheterzation

iC) Masogastric lube insertion

1B} Colostamy rrigafion

The mast appropriate time lor the nurse
toabiain & sputum specimen for culturs is
(4]l Early In the marning

(B Attar the patient eats a light
breakfast

(C)  After aerosol therapy

(D} Aher chest phy=iotherapy

136,

137,

138.

139.

140,

LB T

Mania Is a

(A}  Anxiety relatod disarder
(Bl [Dizsociative disordar
(G Maood disordar

(D) Thought disordear

raposi's sarcoma s associated with
(AY Human papllloma virus

(B) Human T cell lymphotropic virus
type | (HTLA-N

(G} Human immunodaliclency virus
(D] Epstein-Barr virus
Cndanaetron, 8 mg IV given belare
chemotherapy is (o pravent

(A  Alopecia

(B} Fatigua

() Yomiling

(B} Pamn

All of the following are side effects of
phanytain, EXCEPT

(A Ataaa

(B)  Hirsulliam

(C) Hypoglyoemia

(O} Gum hypertrophy

Latarsl curvature of the sping s
called as

[A} Kyphosls

(B} Lordosis

(L) Scoliesis

(D) Pegtus excavaturn
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141,

142,

143,

144,

sansitivity and reaction is testad by
administering the drug

(A)  Intradermally

(B) Intramuscularly
(), Intravenously
(B Subcutanegusly

Which of the fallowing is used tor
assessing the pain in children 7

(A
(B)
(C)
()

Brief pain inventary

Numencal raling scale

Visal analogue scale
Weong-Baker tacas pain raling
soale

Medications usod for nausea and
vomiting s known as

(AY Analgesics

(B}  Antipyretics

(C) Anhematics

(DY Antibiotics

The eguipment used in the examination
of ear is

(A} Laryngoscope

(B} Ophthalmoscope

(G} Otoscope

(0} Procloscope

Hemoval of an antire lung s called as
(A} Lobectomy

(B} Preumonectomy

(C)
(0

Segmental resection
Wadge resection

146,

147

148

143,

O

Which of tha follewling I= the medication
el cholee for patient with an open
contaminated injury and no recent
history of tetanus immunization ?

(A
1
(C)
(

BPRPT vaccino

Tetanus toxoid

Tetanus antitoxin

Tetanus Immunoglobulin

A patient who is receiving antiblotic

therapy compiaints of ringing in the
ears. Thiz clotoxicity is damage 1o

(A ath cN

(B) Bth CN

(€} 7#heN

(B 89 CN

Which of the following cannot be
correcied by dialysis 7

A
B
(C)
(O

Hypernatremia

Hypaerkalomia

Elsvated creatinine

Docreasad hemaoglobin

Tha normal mean pulmonary artary
pressurs is

(A 10-15 mm Hg

(B} 15-20 mm Hog

(C) 20-25 mm Hg

(D) 25-30 mm Hg
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Frafafas d @ fed safafag grods =
PR EEM R 7

(Ay etz

(B) ETETERAE

(C) T/ uwitales i
() B

HIT= ST Y HT S S R
(A1 10-15 T vt (1048 mm Hg)
(B} 15-20THTH U=H] (16-20 mm Ha)
(C) 20-25TATR TEE] (20-25 mm Ha)

(D] 2530 THTH UFH (2530 mm Hyg)
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150, ECG ehange in myocardial infarction is

151,

152

163,

(A} ST scgmenl elevation
(B) Wide QRS complax
(€} Presence ol U wave

(D) Prolonged PR interval

The normal cholestarol leval is

(&) 100150 mgdl

(By 150-200 mg'di

(C) 200-250 mg/di

(D) 250-300 mo/d

Inflarrmiation of llssues surrounding the
nall |s known as

(A) Clubbing

(B} HKollonychia

(C) Paronychia

(B COnycholysis

Which of the following is an indicalor
of AIDS 7

(Al CD4 count lower than
200 callsimm=

1B} CD4 count mare than
An0cellsmm®

(G CO4 count lower than
600 celis/mm?

(D) CD2 count iower than
1000 calsfmms

-36-

154,

156

18T,

ARERLERTERAARREERN LA R AR

Madical managament for increased
intra cranlal pressure (ISP inglude

(A Administer Mannitol
(B) Administer half strength safine

(0] Administer plasma velume
axpandors

(D) Reduce tha numbarof breaths in
the venlilator

Fever, hoadache and nuchal rigidity

ara ¢lassic symptoms sean in

(A1 Parkinson's dissase

(B) Alzheimer's distase

(C} Brain abscess

(DY Meningitis

The approprigte needle size for insulin

injection 15

(A) 186G, 1 %" long

(B) 228G, 1" long

() 22G,1 %" long

DY 25G, 5/8" jong

All of the following pursing ntenantions

arg correcl when using the Z-track
method of Injection EXCEPT

(A Prepare the Iinjection site with
aleahol

(B} Usea needle that'sa least 1" long
(T} Aspirate for biood before injection

(DY Rub the site vigorously afler the
njaction
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168 Deficlency of vilamin D causes 1682, Which of the fallowing is a manifestation
(&)  Night blindnoss of pylaricstancsis 7
(B Bariberi (A) Projectlle vomiting.
{C) Rickets (B) Regurgitation

() Anemia (C) Steatorhea

(D1 Tenesmus
158 Whila performing tracheastomy

suctioning, suction time should 163, The percentaga and the flow of oxygen
not be mota than In & red color ventur mask is
(A} 10 seconds (A} 31% and & It/ minute

(B) 3b% and 8 lit/ miniute
(C) 4C%-and 10 I/ minute

iB) 20 seconds

({C} 30 geconds

(DY 45 seconds (D) 66% and 15 lit! minute

164, Failure to pass meconium within the first

160, Which of the foflowing condition is d Ve Rar SRR nieae

manifested by increasad intraceular :
pressire 7 (A} Abdominal wall defect

(A} Cataract (B8) Celac dispase

(B) Conjunchivitls (C)  Hirschsprung diseass

() Dacryocysiitis (D) Intussusception

0} Glaucama 165. The primigravida reparts thal her last
mensfrual pericd started on January 15

161, Bradenscale s used for assessing tha and ended an January 20. Lising

risk of Magele's rule, the EDD will be

(Al Deoubitus uioer (A September 22

(B} Diabetes mellitus (B) October 22

(C) Hypertansion (C) Novernber 8

(D) Urinary traot infection (D} Decermber 28
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166.

167

168

168,

170,

Severe allkrgic reaction lo.a drug s
known as

(A)  Amaphylactic
(B]
(C) Adverse
(3

Interacton

Toxlaity

One of the major cause for cirrhosis of
liver i=

(&) Alcohol gbuse

(B} Drug abuse

(C) Smoking

D) Wiral hepatitis

Which of tha fallowing is NQT a clinical
manifestation of diabetas mellitus 7

(A)
B
o)
(B}
Distant vislon is assessed by using
(Al
(B}
{C)
1B}
Inflarmmation of the tongue is known as
(A
(B)
)
B

Ghycosuria
Palyphagia
Hypesglycamia
Hypematrermia

Canfrontation test
Hirschbergslest
Jaager card
Snellen chart

Gingivitis
Gilassilis

Paratitis

Stomaltitis

171

172,

173

174,

1ia

AR TOR R0 0 R

Diabetes insipidus s due o the
deficiancy of

(&) Ant diuretic hormone
(8)
(C) Glucose

{0} Glucagon

Insulin

The size of the intravenous cannula ( in
gauge) used for neonaies is

(A) 28
(B 24
(c} 22
(D) 20

Lead poisoning is known &8s
(A)
1B
(G
(D)

Asterivis

Flumiism

Plummer Yinson syndrome
Parder Willl syndraormie

The drug of chiolce in pre eclamsia is
(A} Dopaming

(B1 Magnesium sulphate

(] Sodium bicarbonate

(DY - Sodlum nitrepruside

Which of the following medication 15

administered sublingually for managing
angina pectons ¢

(&) Asprin

(B) Betalos

(G Nroglycerin
(D) Warfarin
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176, Which of the following is &
camplication of splenactomy 7
(4] Cholecystitis
(B Pancreatitis
(G Appendicilis
(D1 Gasintis

177, Parkinson's disease is caused by
(A) Hereditary factors
By Death of biain cells due to old age

(CY  Impairmenl of dopamina
producing colis i the brain

(00 Demyalination of the nerve celfs
178, Inabiiity to'speak or understand the
spoken words s called as
{A)  Insomnla
(B} Aphraxia
() -Agnosia
(Y Aphasia
175 Which ol the fallowing intervantion
oan best prevent bed some 7

tAY  Massage reddened areas with
[atien or oils

(B} Change the position every 1 hour
(CY Use special water matirass

(O} Keep skinclean and dry

1B0.

181.

182:

183.

A TR A

Fre- oparafive preparation for
appendeciomy include all of the
eliowing cxcept

{A) Censant

(B) Enema STAT

(C) Skin preparation

(B) Remove the jowelngs

Which of the following Is a spoaific
invastigation 1o delect seizures 7
(A} CTsean

(B) MRIscan

(C) EEG

(D) X-ray

Which of the following listed drug s a
proton pump inkibitor 7

(&) Pantoprazole

(8} Ranitidine

(C) Sucratfale

{0} Famotidine

Inaffectual straining at steol s known as
(A)  Borborygmi

(B} Constipation

[C) Steatorrhoea

(D) Tenesmus
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184 Which of the following position is given o
a patient with severs breathing difficutty

(A Dorzal recurmant
(B} Fowlers
(T} Supine
(D} Trendlenbery
185, Which of the lollowing 1s used to
assess the function of brain stom 7
(&) Cold caloric test
(B} Glasgow coma scale
(C} Braden scale
(D) Intracraral pressurs
t86. Which of the following can lead 1o

greenish discoloration of the amniotic
fluld 7

{A) Lanugo

(B) Hydramnios
(S Meconium
(D) Vernix

187. Purple-blueg tings of the carvix 1S
(&) Braxion-Hicks sign
(B] Chadwick's sign
{C)  Goodoll's sign
(Y MeDomald's sign
18B. Premature separatian of a nammally
implanted placenta during fhe second

hall of pregnancy, usually wilh severe
hemorrhage is known as

(A) Placenta pravia

(B} Ectopic pregnancy
{C]  Incompetent cenix

(B} Abrupfio placentae

188,

190.

191,

192,

A0 A

Post-parium hamorrhage & loss of
blood which 15 more than

(&) 200 mi
(B) 300 mi
{C) 400 m
(B) 500 ml
Classic symploms of degp ven

thrombasis inciude all ol the
fallowing EXCERT

(A Muscle pain

{(B) Homans sign

(G Swelling

{3} Hednass

While instilling ear deops, the ear canal

of an aduli is stralghtensad by pulling the
pinna

(A) Down and back

{B) Upand back

() Straight dewn

(D) Straight back

Which of the following druy 8 withheld

if the patiant’s pulse |5 |lgss than
gofminuta

(A) Digaxin

(B} Dopamine
(G} Dobulamine
(M Phenyisin
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193 Which of the Tollowing position is used
while administaring enama ?
(A} Dorsal recumbent
(B} Lithatamy
{C). Left lateral
(DY Right tateral
194.  Which of the following drug is
sortraindicated in pancreatitis 7
(A} Morphine
(B) Meperiding
(Cy Diclotanac
(D) Spasmoproxyvon
195, The soluticn used to disinfect the bed
linen of HIV positive patient 15
(A} Dettal
(B} Lysol
{C) Savion
(D} Sodium hypochlorie
196.  While measuring central venous

pressura the Zero paint of the
manometer is adjusted to

{A)  Anterior axillary line
(B) Midaxillary line
(G} Postarior axiliary line

(D) Shoulder level

187,

188.

194,

200.

RO AV

Which ot the following |s the preterred sia
for intramuscular (rjection in infants ?

(A) Deltaid

(B) Rectus lemorns

(0] Mastus lateralis

(DY Ventroglutoal

It 500 mi of ringer lactate is 1o be
administered in  four hours, how

many drops per minute it wouid be
(drop factor = 20 dropsiml) 7

(M) 20
(B) 42
(G 38
(D) 60
Which of the follewing medication order

is immediately and once only
administration 7

(A) prno order

(B} statorder

(G} single order

(D) standing grder

Mursing assessment for neurovascular

status of the axiremity with a cast include
the following EXCEPT

(A) Palioe

(B} HRange of motion

(C) Paresthesia

(0} Pain
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